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PO. (15 4%+)
EEEESEET, J NH SR, SR Q=120000 ki/h. #EEEE = - 15
C. HBEREAR ,=20C. SEARRN SR NH, B, AAR3S0LH o 2 RAH
NH, #if%k. &®#K: 1. 1 kg NH, #9B#AdR q;: 2% 1 kg NH, #@&rEAKNAR )
3. W& NH,BUERFR: 4. MIHENTHIE, 5. Bl RA e .

A, (154D
EMSEAMEE OREE A=19.03cn’, EEMT IR TIER, ZEOBRSEDR
0.8MPa, BN 90T, WEHO0.1MPa. 1. #HHEMEHEOME: 2. HEMETLHO

L, 3. HHMERRE. 4 SREVEEDCRBNRESZE, MHREET KA
EgE—g, REHEEOHEENRRSmAEL?

75 (104D
H—EEFEEAE, XERN ', ATHAHENSES 3 MPa EXH 1.2MPa. &
B dEFEATENEERARSANEERERAR, BN ERE LSBT,
Fk et E AR ST RN

5. (10 45) 4
£ T, » po FHHEF, ARAFLARETHISFEATERREN, TTREEANEX
HRAD, MBET , pFHPZARAFENELRESD. REBARELED
= (u- Tos+ pyv) = (= To st pPove)

J\s (20 43)
Bl AR A BN A E A % KE TR, UEEREAERLAKEREERETR
AMFFEE, AEHFEFOANE, FEAHNEERAH - KKESHT 2ETRER,
RO BN E A ESEESLEE, KRRNA DS p,=50bar, 1, =450T, HAZ
#MESH p=0.05bar. WK: 1. MEEBEEAEN py Fpe: 2. WMo, Mea,; 3. 7
FgE. 4. SEEHERNTEIARBERRIBLE.
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1. ==
c,=1. 004 kl/(kg. K), ¢, ~0. 717 kJ/(kg. K)

2. MY
R=0. 2874 ki/(kg. K), * =c,/c,=1. 34

3. NH,
=20C &7f: Py = 8.0712 bar
s” = 8. 542 kl/(kg. K)
h' = 512.46 kl/kg, h" = 1699.96 ki/kg

=-15C & P, = 2.363]1 bar

s' =3.929 klf(kg.K), s" = 9.021 kifkg.K)
h' = 349,89 ki/kg, h" = 1664.09 ki/kg

4. KR
p=50 bar, t=450"C B}:
h=3316 ki/kg, s=6.8204 ki/(kg. K)

p=50 bar & : 1,=263.92 T
p=0.05barBf: ¢,=32.90 C, h' = 137.77 Kikg

=190C B: p,

12.6 bar ,  h' = 807.5 Ki/kg

t=110C B Dy

]

‘1.43 bar ,  h' = 461.32 kikg

X s=6. 8204 kJ/(kg. K) B}:
Wk p=12.6 bar, M4 h=2952 kifke
MR p=1.43 bar, W4 h=2540 klke
MR p=0.05 bar, 4 h=2100 k/kg
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